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Answer the following questions: 

 

1- How can you prepare the following compounds, select only six:     (6x2 Marks) 

 

2- A        (2x3 Marks) 

i- Pyrrole is less basic than pyridine and pyridine is less than piperidine because 

lone pair in nitrogen of  pyrrole share in aromaticity but in pyridine and 

piperidine is available 

Piperidine is saturated and secondary amine 

ii- Electrophilic substitution in thiophene take place in position 2 and 5 while in 

quinoline at position 5 and 7 

Thiophene  



 

Quinoline 

 

 

 

 

2B-        (3x2 Marks) 

 

 

 

 

 

 

 

 



3-                              (6x2 Marks) 

 

4- A                                                (6x1 Marks) 

 

4B                                 (6 Marks) 

- Imidazole derivatives  can be synthesized from the reaction of 2-aminocarbonyl 

compounds  with HNCS or from the reaction of ethylene diamine with urea or 

carboxylic acids. 

- Electrophilic substitution like nitration, sulphonation, halogenations of imidazole take 

place at position 4 and nucleophilic substitution at position 2 



 

 


